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(G)EEW N1 0 85 int main(void) {
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3 96 for (i = 0: i < NUM; i++) {
4 84 printf(“%d¥n”, seiseki[i]);
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0 85 int seiseki[7] = {85, 72, 48, 96, o ZRFTEIMIUTDELIIZEL
1 72 84,77, 58}; int data[5][10];

2 48 £L<1% (int data[5,10]; [&REH:ELY)

3 96 int seiseki[] = {85, 72, 48, 96 * SRILELEGATRE

4 84 ' é4, 7Y7, 53}; - YHELTATRE

5 77 —intdata[4][3] ={ {5, 6, 3},

6 58 {4,5, 2},

= o o - {6,3, 1},
° 72&1%%‘% Hﬁ#él—&%ﬂj*é {1’ 8, 9} };
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printf("1%& B DfE%E A 51->"); printf("fal A DFEZER DS 2 ->");
scanf("%d",&a); scanf("%d",&n);

printf("2% B D fiE% A 11->"); int a[n];
scanf("%d",&b); for(int i=0; i<n; i++)

printf("3% B D {E#% A 1->"); E:> {
scanf("%d",&c); printf("%d#Z B D&% A 71->",i+1);
printf("4% B DfEZE A 51->"); scanf(%d",&ali]);

scanf("%d",&d); }
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